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oic TIMA_IRQHandler(1oid)
i
(TIM_GetiTStatus(TIM4, TIM_IT_Update) == SET)
{
TIM_ClearTPendingBit(TIV4, TIM_IT_Update):
timerd_count+;
cheak_zero_position():
for(i=07i<motor_num;i++)

i(motor_infofi] motor_num_en==0x01)
{
¥i( motor_info[i] motor_di==0x01)
{

i( motor_infofi] motor_steps!=0)

SLEEP_HIGH();:

‘command_send(motort_2Z_cmd]motor_infofi].send_count]);
motor_infofi].send_count++;
i(motar_infofi] send_count==0x04)
{
motor_infofi] send_count=0;
motor_infofi] motor_steps—;
}

}
iC
{

‘command_send( motor_2
motor_infofi].send_count++:

7_cmd[motor_infofi send_count]):
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SLEEP_HIGH():
ii==0)" S AL

motor_infofi].send_count++;
i(motar_infofi] send_count==0x04)

{
[i] send_count=0;
[i] motor_steps-

HoS il ER

co 1_send(0x1000
‘command_send( motor2_Z_cmd[motor_infofi send_count]);
motor_infofi].send_count++:
i(motar_infofi] send_count==0x04)
{

motor_infofi] send_count=0;
[i] motor_steps—;

else
{
motor_infofi] motor_num_en
motor_infofi] send_count=0;
motor_infofi] motor_dir=0;
SLEEP_LOW();
motor_infofi] running=0;

I
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1
else
{
ii( motor_infofil.motor_steps=0) 0
{
SLEEP.

b TR
{

command_send(;
‘command_send( motor1_FZ_cmd[motor_infofi].send_count]);
motor_infofi].send_count+-+;
i(motar_infofi] send_count==0x04)
{

motor_infofi] send_count=0;

motor_infofi] motor_steps—;
1

3r(-:|) H2S el RE
{

command_send(0x
‘command_send( motor2_FZ_cmd[motor_infofi].send_count]);
motor_infofi].send_count+-+;
i(motar_infofi] send_count==0x04)
{
motor_infofi] send_count=0;
motor_infofi] motor_steps—;
1
1
1
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4(0x1000

‘command_send( motor2_FZ_cmd[motor_infofi].send_count]);
motor_infofi].send_count+-+;

i(motar_infofi] send_count==0x04)

{
motor_infofi].send_count={
motor_infofi] motor_steps—;

}

}
}
else
{
SLEEP_LOW():;
motor_infofi].motor_num_en
motor_infofi].send_count=_
motor_infofi] motor_dir=0;
motor_infofi] running=0;
motor_infof] is_fin
motor_info[i i





